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SN dE
M MEH HOHAX WEHKHIT 7=
Sl NBY BHAHA 25 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONED 2012 248 05g
66,8003 x 10 *63] 4,008
201 L2l 6,000 6,000 0
01 At 22l 2,000 6,000 A4,000
OZZ X4 HHIYX 2,000,000& » 14l 2,000
02 2324l 4,000 0 4,000
OME LM YUHCCTV R Al2t2 4,000
206 M= Hl 6,000 18,000 A 12,000
01 =8l 6,000 18,000 A 12,000
OZZx4 ME 7 3,000,000 x 14 3,000
odEdH Folz2 =2d Mg +¢
3,000,000 » 14 3,000
301 LEtE A= 4,560 4,560 0
01 MEIBEZE 05z 3,360 3,360 0
Ok JIHEYE MY 3,360
12 JIEtE4 = 1,200 1,200 0
O& AKX A5 2stM2elel 243
100,000 »1H x123] 1,200
401 Al HI L 2 THHI 12,000 12,000 0
01 A& tl 12,000 12,000 0
OME M YHCCTV & X 12,000
HoHole =gl=& oiZ 110,000 90,000 20,000
201 €2l 5,000 6,000 A 1,000
01 At 22l 5,000 6,000 A 1,000
OMdioleg ¥ SPEHH SX= 5,000
401 Al HIZ 201 8] 105,000 84,000 21,000
01 A& HI 103,920 83,136 20,784
OfIg+==HA 5,000
OZQl THOHO AL 10,000, 000& *98.92% 9,892
OCHEl THOH O AL 10,000, 000& *98.92% 9,892
O&t& THOH Ol AL 10,000, 000& *98.92% 9,892
OJ& THOHO S AL 10,000, 0002 *98.92% 9,892
O&IF THOH Ol 2 A 10,000, 000& *98.92% 9,892
OBkt THOH Ol S AL 10,000, 0002 *98.92% 9,892
OSY ™ THOHO A 10,000, 000& *98.92% 9,892
OIl Y THOHO AL 10,000, 0002 *98.92% 9,892
O=& THoHOM EAS 10,000, 000& *98.92% 9,892
O=Xl Mol S A 10,000, 000& *98.92% 9,892
03 A& =2 THHI 1,080 864 216
O =0l At 100,000,000 1.08% 1,080
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re o2 rx
JE 0 08
Mo Mo 2

02 02

=5

oy
o
=
08
2

M- E8 e (30) - ALY - B AR 0l b SSa DS
101 1Al 28,050 0 28,050
03 RIAHAZ 22+ 28,050 0 28,050

Ox2=ssg 29 22l 28,050
—Jlzs 66,8003 25 «128 20,040
—-x=52¢ 66,8008 ¥52% 3,474
— XY 66,8003 x20& 1,336
—g&2sd 600, 000& *23] 1,200
—4AHEE= 2,000
=3t 54,344 54,304 40
AEH JI23HI 54,344 54,304 40

201 Let24E] 15,464 15,464 0

01 AFR 22l 13,464 13,464 0
OgHE g2=&4 9,332,000& x 14 9,332
O¢E ARFX(SHI) 2,332,000 «14 2,332
ogax=¢ 60,0003 =30 1,800

02 =24l 2,000 2,000 0
OEAMKA & 22l 2,000,000 2,000

202 04l 27,720 27,720 0

01 SLHOYI 2,880 2,880 0
Ogd gRxd 2,880,000& 14 2,880

02 M0 24,840 24,840 0
osa 200,000 x1H «12& 2,400
OS¢ 0Olct 170,000& 11H = 12& 22,440

203 YR =2t 10,160 10,120 40

01 JIZ2Z YR 6,600 6,600 0
OHZE=d 6,600,000& 6,600

02 AP 2= 560 520 40
OZ &ALt 40,000 14X 560

04 EASIYRFLH 3,000 3,000 0
ORNEZ 250,000& 122 3,000

405 THabH S| 1,000 1,000 0
01 AL ESFH S 1,000 1,000 0

oy gR=d 1,000
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SN o
MM A2H ZFOHXX UWERIA 2=
Sl 4P BHAHA 25 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OE+0 NENSZS Zol 4 0adS co
0l 21,868
A== 66,800& 21«12 & x1H 16,834
—F=F5Y 66,800& x52F= 14 3,474
— A B8 = 130,000& =121 & 1,560
201 et A | 4,500 5,640 A 1,140
01 AFR2t2l Yl 2,500 5,640 N3, 140
Obotd EHIDJ| HHYXE 2,000
Ogalz® 82X 22 Edlgxs
500,000& *13] 500
02 352494l 2,000 0 2,000
OMELMEIHCCTV S Xl 22 2,000
206 T 2 bl 12,000 20,000 A8,000
01 X2 bl 12,000 20,000 A 8,000
OZ2ZXxH Mz ¢ 6,000
OXZH0IH3a =86 28 22ZX4d s F
2 6,000
301 dEtE A= 4,080 4,080 0
01 AL B & A %352 2,880 2,880 0
Ox=2 X JIE3LE SAAY 2,880,000 2,880
12 JEtE &2 1,200 1,200 0
O0l&E MOt 22l BA3
100,000& *1H x123] 1,200
401 Al HI L 2 0HHI 10,000 15, A5,000
01 A& HI 10,000 15, A5,000
OfIg+= HA 5,000
OME LM EHACCTY & X 5,000
Molog F=ol=a o1& 105,000 86,000 19,000
201 LEt2 9| 5,000 6,000 A 1,000
01 At 22l Yl 5,000 6,000 A 1,000
OMd g ¥ 57 U Lz 5,000
401 Al HI YL 2 0HHI 100,000 80,000 20,000
01 A& HI 98,920 79,136 19,784
OFE0tS =2 HH| 15,000, 000& *98.92% 14,838
O3 =2 &bl 15,000, 000& *98.92% 14,838
oge =2 AUl 15,000, 000& *98.92% 14,838
O=x&0t2 Mg FH| 20,000, 000& *98.92% 19,784
O== Hi=2 &bl 20,000, 000& *98.92% 19,784
O =2 &bl 15,000, 000 *98.92% 14,838
03 A& 2 0HH| 1,080 864 216
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SN s
M Ma0 KX WEYD 2E
Sl S BIMUA 25 o HE)
SN BA(SA) - MRAY - BES il HImEET
OMofiog F=2l=2 0
100,000,000& *1.08% 1,080
T2 AMoHol g 30,000 30,000 0
401 Al HI K 201 30,000 30,000 0
01 A& tI 29,676 29,676 0
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 A& =2 THHI 324 324 0
OLA2 THOH Ol AL 30,000,000& *1.08% 324
g0 MEHISH 2l 2 6,560 7,500 A 940
101 @124l 5,000 6,000 A 1,000
04 D12t 22 HEE = 5,000 6,000 A 1,000
ON=3d HM=&g o2d 3,000
OMS3d =3+ dXHY AFY 2,000
201 et 1,560 1,500 60
02 2324l 1,560 1,500 60
OHIIRS 100,000 1200 & 1,200
O4dt+=E 23 30,0002 1200 & 360
HY2AZH (d4H) 53,504 54,504 21,000
Jl234l 53,504 54,504 A 1,000
A0 J|2ZHl 53,504 54,504 A 1,000
201 £B-2dH| 14,664 14,664 0
01 At 22l 11,664 11,664 0
OHE g2=2 9,332,000 =14 9,332
OHAE ARFA(SeHl) 2,332,000& x14 2,332
02 =224l 3,000 3,000 0
OFALSA & 2e] 3,000
202 044l 27,720 27,720 0
01 = LH o4 1l 2,880 2,880 0
Ogd g2=a 2,880,000& 14 2,880
02 M0 24,840 24,840 0
osa 200,000 x1H «12& 2,400
O8dHZ 0lst 170,000 11H 128 22,440
203 ¥R =&l 10,120 10,120 0
01 J22E =4 6,600 6,600 0
OoJ1z2=2d 6,600,000 » 14 6,600
02 A& H R =& 520 520 0
OZ &ALt 40,000 13 520
04 EA2IYRFLH| 3,000 3,000 0
ORNEZ 250,000& 1228 3,000
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N & 0 &F AF Y & A
201908 = 20l A LB H LAS ~ XIATH
A a0
HH: 240 ZFHXUX UWEKD 2=
Sl 240 BTAHA 25 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
P4H 601,305 545,573 55,732
Z2HXX WERKA 2= 521,177 474,381 46,796
a0 HHAMH A 23S 521,177 474,381 46,796
HHANHIA 2229 206,949 177,919 29,030
101 2121 d| 31,870 0 31,870
04 JIZtHIZ22XNSE S 31,870 0 31,870
OHEA 22| o182 66,800& *1H *243| 1,604
O SXga & s 2el oA 30,266
- Jl=22 66,8003 x248 *1H 16,567
— &M= 16,567,000 *4/12x1& 5,523
- Ra2F=EY 66,800& x52F 1Y 3,474
— Hxx¢ 66,800& 15 x1H 1,002
— Y& S| 600,000 23| x1H 1,200
— 4Bz 2,500,000 2,500
201 Yere | 174,579 177,419 A2,840
01 At 22l bl 42,448 42,288 160
OFINZLHE L ME 2S&  520,000& *42 | 2,080
OAIRI17] 29 228 ¢ 700,000 x12& 8,400
OARa 2223 F2¢ 300,000& x12& 3,600
OANRES #+¢ 200,000& x12& 2,400
OFAI JIAF ZAS S 8,000 246 1,968
OZHNM=sE & HIIZ20tH 2+ 2,000
OAIR24 HHAEH Ha 1,000
O24H 23t Al 20,000
O3z &< 1,000
02 3524t 132,131 135, 131 A 3,000
OFANLS 1,200
OAIR4a I3 500,000& 1201 & 6,000
OJl2ge ®EII22() 7,070 *660H x12& 55,995
QI2s HMII22(8) 2,170,000& ~12& 26,040
OAIR 4 IISEHAIE S22
88,000& x12& 1,056
Oadt=22 1,400
OREE L5223 350,000& «12& 4,200
OAIR4a K20 2,000
OFAN HIIGHEEH 42 70,000& *23] 140
OAESE A2 4,000
OFAXE SA22 19,000
OMEMHIEZE Ml =22 4,000
OSAE8/ HIIZ2 Hel =2 2,000
OsgaLz) KNEx 1,100, 000& *1CH 1,100
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A
e e
0% ot

IMHIA 23St

FOHAX WERT 2=
X

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI 2L 2 0HHI 20,000 15,000 5,000
01 A& HI 20,000 15,000 5,000

OMgotM™ersH CCTV & Xl 20,000

Moo =2=3 & 143,000 143,000 0
201 et A | 13,000 18,000 A5,000
01 AFR22t2ld] 13,000 18,000 A5,000

OXHal oy & =3 HHl dx= 8,000
OfI84+S MA &UH Xz 5,000
401 Al HI YL 2 0HHI 130,000 120,000 10,000
01 A& HI 128,596 118,704 9,892
Os&E0t2 2 HHIAFY 10,000,000 *98.92% 9,892
Odld|el 8H tix=2 ZUlAS
10,000, 000& *98.92% 9,892
Os&s0ls s22£=Z2AF 10,000,000& x98.92% 9,892
ORX0OIS =2 ZHISA
11,000, 000& *98.92% 10,882
Otd0E 2 UMY
17,000,000 *98.91% 16,815
Otgel s2 B3 A 10,000, 000& *98.92% 9,892
OFde2 =2 ZUISA
17,000, 000& *98.92% 16,817
Oostdel =2 B3 A 5,000,000& *98.92% 4,946
O85F2 s2 B3 AM 10,000, 000& *98.92% 9,892
OS4&0tE2 =2 JHIAE
10,000, 000& *98.92% 9,892
OEY0t2 =2 JHIAY
10,000, 000& *98.92% 9,892
ogd=xitg s & 10,000, 000& *98.92% 9,892
03 A& 20 b 1,404 1,296 108
OOl =0I=J At 130,000,000& *1.08% 1,404
+2 THOH O 2 40,000 40,000 0
401 Al HI 2L 2 0HHI 40,000 40,000 0
01 A& HI 39,568 39,568 0
OALA2 THOH O AN 40,000,000& *98.92% 39,568
03 Al& 201 Y] 432 432 0
OALAZ2 THOH O ZH A 40,000,000& *1.08% 432
A FHEU(25H) 80,128 71,192 8,936
=Nl 80,128 71,192 8,936
=H J|=238y| 80,128 71,192 8,936
201 LEt2 Y| 23,728 21,352 2,376
01 AR 22| I 19,728 17,352 2,376
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A a0
M HMSAHH (24H)
@2 Jl2&tl (e &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
OHE gR2FA 14,775
OHE L2 (SHl) 3,693
Oga+Y 60,000 *x1H x21 1,260
02 33249l 4,000 4,000 0
OFARX & 22| 4,000
202 O B 43,680 36,840 6,840
01 2L Y| 4,560 3,840 720
OHE g2RFA 4,560
02 EHNY| 39,120 33,000 6,120
OHE 200,000& x1H x12& 2,400
OfHE 0I5t 170,000& x18H x12& 36,720
203 R =&Y 11,720 11,000 720
01 J|2A2H L R=XH| 6,600 6,600 0
oJjzesd 6,600
02 3RO E R =AY 920 800 120
O3 Itat 40,000& 23 920
04 ENSHLR=AH| 4,200 3,600 600
OfAE2dY 350,000& *12& 4,200
405 XtabF S| 1,000 2,000 A 1,000
01 AL 2B F SHI 1,000 2,000 A 1,000
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Sl AEH BIMHA 25 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
e 305,694 278,694 27,000
SEH HUAUX WENID = 250,190 221,190 29,000
A HEMH A 235 250,190 221,190 29,000
HYMHI A 222 58,310 58,310 0
101 @14 dl 350 350 0
4 D12t ZE2XREES 350 350 0
OBEA 2| o2 350,000& =13l 350
201 Let249H] 57,360 57,360 0
01 At 22/l 9,160 9,160 0
OFJIIZHEE L ME =3 450,000 42 DI 1,800
OMEIIDl 28 428 7¢
1,000,000& 42 7| 4,000
OAMNERES el 625,000& 42 | 2,500
OXs3HAE |22 60,000& 123 720
OFAL HItMFH =2 70,000& *23] 140
02 8323l 48,200 48,200 0
O&FANLS 240,000& x53| 1,200
OMEH XIS 700,000& »12& 8,400
ON2s I3 2,500,000& x12& 30,000
OESa=, 50,000& x12& 600
ORu= 2523 500,000& 42 | 2,000
OAgsle |A2el 3,000,000 x 14 3,000
OXEFE=NIE SR 22 3,000,000& x14 3,000
301 L2 A3z 600 600 0
09 ALAHI B &= 600 600 0
ORBHAS S 2E #A =&
600,000& 14 600
FoEHO MEEy M 56,880 46,880 10,000
101 @14l 12,800 11,000 1,800
M4 D122 EXNSES 12,800 11,000 1,800
OE2H 22 =4 o=2Y 9,000,000 » 14 9,000
O=Ei0ts 22 =4 22 1,800,000& 14 1,800
Os0E&E &28 EHID =2y
2,000,000 » 14 2,000
201 et 8,700 6,500 2,200
01 At 221l 4,700 6,500 A 1,800
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O=EtitE 22 =4 ZHYX 2,200
02 3323l 4,000 0 4,000
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206 M= Hl 10,000 9,000 1,000
01 MHZ 8l 10,000 9,000 1,000
OE2¢ 22 x4 HE 7L 9,000,000& 1 9,000
O=ttits £Z =d M7 1,000
301 Ler2a = 4,380 4,380 0
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OAMIl s2EH 13,000, 000& *98.92% 12,860
Oxgel s2Z% 10,000, 0002 *98.92% 9,892
OX&Eel =2 &bl 10,000, 000& *98.92% 9,892
Odd4del == 3l 10,000, 0002 *98.92% 9,892
O=x=&ecl &H &X 10,000, 000& *98.92% 9,892
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- 583 -




C Y ERAL=T

B SRR (M)

S Jl2d PEA)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MEO J2& | 55,504 57,504 A 2,000

201 Bt H | 16,664 16,664 0
01 AP 22l Yl 11,664 11,664 0
OHE gRFA 9,332
OHE 28 (S ) 2,332
=329l 5,000 5,000 0
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02 XN H| 24,840 24,840 0
OHE 200,000& x1H x12& 2,400
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203 € R =&Y| 10,120 10,120 0
I22A R =AY 6,600 6,600 0
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AP 2= 520 520 0
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04 ENSIHRF=EY| 3,000 3,000 0
OfMded 250,000& x12& 3,000
405 XHoHF SHI 1,000 3,000 A 2,000
01 A&t = S F S HI 1,000 3,000 A 2,000
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HA o2 66,8003 1 »23| x12& 1,604
201 Bt A | 5,000 5,000 0
01 AP 22l Yl 1,000 5,000 A 4,000
Osd42 2te| 1,000,000& 1,000
02 332494l 4,000 0 4,000
OMELMEHCCTV = Xl 22 4,000,000 4,000
206 M = 4l 6,000 6,000 0
01 &2 bl 6,000 6,000 0
OZ22 =4 M= 1,000,000& *x23] 2,000
Otz L A3 HEZ AN M=
2,000,000& x23] 4,000
301 dEtE A= 4,200 4,200 0
01 AL B & & 2352 3,000 3,000 0
O3 JIEYE LAAMNY 3,000,000 3,000
12 J|EtE &2 1,200 1,200 0
Ostde A= 22l Ba3 50,000& x12& 600
O8HxA 2o BEAZ 50,000& x12& 600
401 AIEHIL 20| 12,000 12,000 0
01 Al& bl 12,000 12,000 0
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201 LEt2 A Y| 10,000 13,000 A 3,000
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Oll=0t8 sZ MEHAIY
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OXHatolg =2l=s

100,000,000& *1.08% 1,080
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401 Al HI K 201 30,000 30,000 0

01 A& tI 29,676 29,676 0
OA272 THoHME A 30,000,000 %98.92% 29,676

03 Al& 2 324 324 0
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HE2IZH (AAHH) 53,504 55,504 A 2,000
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02 M0 24,840 24,840 0
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OfHZ 0lct 170,000 11H 128 22,440

203 YR =&l 10,120 10,120 0
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01 & bl 24,000 24,000 0
Ooorstte AHel 3224 Mg 7Y
20,000,000& x14 20,000
OReH MHM2 HAZY M2 7Y
4,000,000& =14 4,000
301 Bt A= 5,640 5,640 0
01 MSIBEEE2G2 5,640 5,640 0
Ox== At 242 gAY 5,640
401 Al HI L 2 0HHI 15,000 20,000 A5,000
01 A& HI 15,000 20,000 A5,000
Ofg==2 MAH NA 5,000
OMEot™etsH CCTV & Xl 10,000
Mololg F=ol=2 o1& 128,000 105,000 23,000
201 Bt A | 8,000 5,000 3,000
01 AFR2 22l Yl 8,000 5,000 3,000
OMdl g ¥ =7 AU LxtzE 8,000,000 8,000
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01 A& HI 118,705 98,920 19,785
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FURRNME 2 29,000 6,000 23,000
201 Yyt 2 Y| 6,000 6,000 0
01 At 2t2l | 1,200 1,200 0
OFURXIME el 1,200,0002 *1 1,200
02 2229l 4,800 4,800 0
OFURXME 2¢ 4,800,000% *1 4,800
401 Al HI L 2T 18,000 0 18,000
01 Al bl 18,000 0 18,000
FZUXXIME ST A 18,000,000 18,000
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OZFNXNEIR Y 22 5,000,000+ 14 5,000
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02 22| 4,000 4,000 0
OEANSI L 22 4,000
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OMEMEHCCTY S Xl 22 4,000
206 M = dl 12,000 8,000 4,000
01 X2 bl 12,000 8,000 4,000
O34 MEH| 12,000
301 et A= 4,320 4,320 0
01 Al E&E A %52 4,320 4,320 0
O A YR HAEAY 4,320
401 AlEHIZL 2 0HY| 11,000 15,000 A 4,000
01 Al&H| 11,000 15,000 A 4,000
OfIegs+= MA 5,000
OMEotAMErs CCTV A X 6,000
Moo == o2 105,000 84,000 21,000
201 gEt24y| 5,000 4,000 1,000
01 AP 22| H| 5,000 4,000 1,000
OMafiog & 232 & i 5,000,000& 5,000
401 AlEH|IZL £ 0HY| 100,000 80,000 20,000
01 AlEH| 98,920 79,136 19,784
Ost&e| s HIZ2AH 10,000, 000& *98.92% 9,892
Ot sZ2HHIZ2AH 10,000, 000 *98.92% 9,892
OjlJlel s HIZ2AH 10,000, 000& *98.92% 9,892
OAa"E JHH EXZ2A 15,000, 000 *98.92% 14,838
O=sHd2l MW At 15,000, 000 x98.92% 14,838
OZE =2 HHIAIY 10,000, 000& *98.92% 9,892
O38 =2 L2 A} 10,000, 000 *98.92% 9,892
OsXxl0t2S THAHOIZEAIE 20,000,000 x98.92% 19,784
03 Al 201 Y| 1,080 864 216
Ol ol =0I=& A& 100,000,000& *1.08% 1,080
A2 THol ol gt 30,000 30,000 0
401 AlEHIZL £ 0HY| 30,000 30,000 0
01 Al& 29,676 29,676 0
OMTHE THOHOI BEAFS 30,000, 000& x98.92% 29,676
03 Al 204 Y| 324 324 0
OALTFHE THOHO BEAFSY 30,000,000 x1.08% 324
2228 29 51,060 58,674 NT,614
101 @124 H] 16,360 23,974 NT,614
04 JI2ZtHIZ2 2 NEES 16,360 23,974 NT,614
A2 2 e A2
66,800& 20 x1H «10& +3,000,000& 16,360
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N = 0l & At & Ml A

20194

H
o
2
>
ne
o
ton

S R=Pl

M dxH HFHAX WEHIT ==
Sl SRS HIMHIA 23 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SxH 301,586 280,796 20,790
SXH FHIAX WERKIT =5 248,082 225,292 22,790
SXH dEAMHA 235 248,082 225,292 22,790
HEAMHIA 2229 77,882 77,212 670
101 @14 dl 9,000 9,000 0
04 JI2ZtHZ22HEE =+ 9,000 9,000 0
Oz 33aa Rlde U2
9,000,000 » 14 9,000
201 LBt 68,282 67,612 670
01 At 22l 10,000 10,000 0
OAMBI1Dl 28 ABF #¢&  7,000,000& 14 7,000
OFJIIUnH=E Y M2FR=E 2,000
O&X 2334 KA 1,000
02 =24l 58,282 57,612 670
OF At =HI 1,200
OAMBA IS 700,000& x12& 8,400
OXtzs d#lles 7,300 3305 +12& 28,908
O=sXalz M3 400,000 x12& 4,800
O=Xsg2 24l 2,000,000& » 14 2,000
=23 60,000& x12& 720
OX=s3HIAE |RA22 88,000& 123 1,056
OTVAIE = 16,500& 128 198
SUS 2ERS 150,000& =122 1,800
OMEH SFU 1,000,000& =14 1,000
OFEAL HItMFH =2 100, 000& 22| 200
O=EXE FA2el 5,000,000 » 14 5,000
OXERXNB(XES SXXE) 3,000,000+1E 3,000
301 YptE A 600 600 0
09 &AL HI B &S 600 600 0
OZZEE3 s A8 =& 600
FoImo MBEY 30,200 28,080 2,120
101 @14 dl 6,120 4,000 2,120
04 JIZHHZ2XNSE+ 6,120 4,000 2,120
OZ2Zx4d 2=2¢ 3,000,000& 3,000
Oot&E EtJ|l =2 130,000& »8H 32 3,120
201 2Bt | 4,000 4,000 0
02 232gHl 4,000 0 4,000
OME ot etH CCTV | Al 4,000,000& 4,000
206 M= Hl 4,000 4,000 0
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fAM: EXH
M dxH HFHAX WEHIT ==
S

o4 gx9 S HIA 23 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

01 & bl 4,000 4,000 0
OZZXxH Mz #*¢ 4,000,000 4,000

301 dEtE A= 4,080 4,080 0]

01 M EXE 4562 4,080 4,080 0
Ox=2 X JIELE2 SAALY 4,080,000 4,080

401 Al HIL 201 12,000 12,000 0

01 A& HI 12,000 12,000 0
AMEOENM YL CCTV & Xl 12,000,000& 12,000

Moo =0=3 & 110,000 90,000 20,000

201 et A | 5,000 5,000 0

01 AFR2 2t 2l Yl 5,000 5,000 0
OTHofioe & 232 &d| 2dXE 5,000,000 5,000

401 AIEHIL 20| 105,000 85,000 20,000

01 A& bl 103,920 84,136 19,784
Ofg==s MAXNE 5,000,000 5,000
OSX2l THoH Ol 2 Ar 20,000, 000& *98.92% 19,784
OAr=2| THOH Ol 2 AF 15,000, 000& *98.92% 14,838
O&2| THOH Ol 2 A 20,000, 000& *98.92% 19,784
OAIE=0tZ2 THOH O 2 AN 15,000,000 *98.92% 14,838
OS2l THOH Ol 2 A 15,000, 000& *98.92% 14,838
O3l 22| THoH WA 15,000, 000& *98.92% 14,838

03 A& 20 b 1,080 864 216
OO e =0I=3aHZ 100,000,000& *1.08% 1,080

A2 THOH O & 30,000 30,000 0

401 Al HI 2L 2 0HHI 30,000 30,000 0

01 A& HI 29,676 29,676 0
OALA2 THOH O AN 30,000, 000& *98.92% 29,676

03 Al 201 Y] 324 324 0
OALAZ2 THOH O Z A 30,000, 000& *1.08% 324

HHSHAY (EXH) 53,504 55,504 A 2,000

Jl2& bl 53,504 55,504 A 2,000

SXH J2EH 53,504 55,504 A 2,000

201 LEt2 Y| 14,664 14,664 0

01 A2 22| 8l 11,664 11,664 0
OHE LRFX 9,332,000& x 1 9,332
OHA H2=Z (S Hl) 2,332,000 x 1 2,332

02 332494l 3,000 3,000 0
OFANSX &« 22| 3,000,000 3,000
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S ER=F
M HH2IZH(AXH)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 i 27,720 27,720
=L 2,880 2,880
OHE g2=2 2,880,000 14 2,880
ERL RG] 24,840 24,840
osd 200,000& x1H 128 2,400
OfHZ Olot 170,000 11H »12& 22,440
e N 10,120 10,120
J228 =4 6,600 6,600
oJ1229 6,600,000 6,600
02 AP 2= 520 520 0
OF Atk 40,000& x13H 520
04 FN2ELSZ=TH 3,000 3,000 0
FAE2E 250,000 128 3,000
405 Xt&tE SHI 1,000 3,000 A 2,000
01 XML = ZFH SHI 1,000 3,000 A 2,000
OHE gR=2 1,000,000 1,000
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N = 0l & At & Ml A

201908 = 20l A LB H LAS ~ XIATH
SAM: KAFH
3 AAMHE HFHUX HWERKZA *=
Sl KA BHAHIA 23 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
XIAFH 336,491 299,622 36,869
NASH BAHXX WERKZD 25 280,587 246,118 34,469
KAFSH SHAE HHIA 235 280,587 246,118 34,469
HHANHIA 2229 103,897 91,098 12,799
101 @121l 802 723 79
04 JI2ZtH 22 XNEE 802 723 79
OHAEAN Hel o=2Y 66,800 *1H x123] 802
201 LBEt2H Y| 72,495 69,775 2,720
01 At 22l Yl 12,895 12,175 720
OFINZLHE L ME 2SE  400,000& x4Z | 1,600
OMRIID 89 A28 F2¢ 500,000& x12& 6,000
OHMEA 2| AIEZ 60,000& x12& 720
OJIEFALR 22l Y] 4,575,000& =14 4,575
02 332494l 59,600 57,600 2,000
OFANLE 1,200,000& x 1 1,200
OM=RA &R 1,000,000& *12& 12,000
OXfzs dIIe3 2,500,000~12& 30,000
OXNsHHANE X2 100,000& = 12& 1,200
Q& 22 400,000& x14 400
ORdgsAEs 200,000& x14 200
OREE L5522 200,000& «12& 2,400
OFAN HIIHHEH =2 100,000& *x23] 200
O2832 FA22 5,000,000& =1 5,000
O=sXza 292 3,000,000& =1 3,000
O%sE sl A2 4,000,000& x1 4,000
301 dEtE A= 600 600 0
09 HAIAH EA=S 600 600 0
OZFHEZTS S A3 A F&
600,000& 14 600
401 Al HIL 2T 30,000 20,000 10,000
01 Al& bl 30,000 20,000 10,000
OXNAFHAMRA F=XE JIsELSA
30,000,000& 14 30,000
FOIEHS MEEH A 36,690 36,020 670
101 @121l 14,170 13,500 670
04 JI2ZtH22XNHEE 14,170 13,500 670
OHE ZHIJ] o2 130, 000& *20H 23| 5,200
Osctm X ae o2 130,000& *15H 13| 1,950
Osdt& EHII] o2 130, 000& x15Y *x23] 3,900
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M XAH
M AAME HFOHUX WERD 2=
X

S XAFH SHEAH A 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
DStz 2 amz Zel O9g
130,000& x 10 x23]| 2,600
03.1S4 BHIJI&e o
130,000 x2H x23| 520
201 gEt24d| 4,000 4,000 0
02 =224 H| 4,000 0 4,000
OMEotMBtH CCTV | A2l 4,000
206 M = dl 1,000 1,000 0
01 X2 b 1,000 1,000 0
Ogteze Mg 2 1,000, 000& = 14! 1,000
301 et A= 5,520 5,520 0]
01 Al E& A 252 3,120 3,120 0
=g JIEYE ALY 3,120,000 =1 3,120
12 J|IEtE A= 2,400 2,400 0
OME(ZE FANR BRI 243
100,000& 2 x123] 2,400
401 AlEHIZL £ 0HY| 12,000 12,000 0]
01 Al&H| 12,000 12,000 0
OMEotMBtH CCTV A X 12,000
Mololgt =0l=g o2& 110,000 89,000 21,000
201 et | 5,000 6,000 A 1,000
01 AP 2t 2] d| 5,000 6,000 A 1,000
OMaliog & =31 &dl dx=
5,000,000 1 5,000
401 AlEHIZL 2 0HY| 105,000 83,000 22,000
01 Al& H| 103,920 82,136 21,784
OAME2l =2 HE ALY
15,000, 000 *98.92% 14,838
O%H AE T HEAY
20,000,000 x98.92% 19,784
OEHE0IS =2 EXAL
15,000, 000 *98.92% 14,838
OK&0IE 0tAE SMR2D| ALY
20,000,000 x98.92% 19,784
Oatptit=23 2 JgE HHAFY
10,000, 000 *98.92% 9,892
O&3)] =2 HEAY 20,000, 000& x98.92% 19,784
OfI84+sS MAHAXA 5,000,000 =1 5,000
03 AlE 21| 1,080 864 216
OMalioler =0l=< At 100,000,000 *1.08% 1,080
A7 2 THol ol gt 30,000 30,000 0
401 Al HI L £ 0HHI 30,000 30,000 0
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M XIAH
3 TAME MK WERKZT 2=
cHol: XA BENHIA 23 S EH)
S B G(SA) - NRANY - BES il 2
01 A& HI 29,676 29,676 0
O2x7E THOH M &AL 30,000,000 *98.92% 29,676
03 Al =2 THHI 324 324 0
OAE THoH Ol &AL 30,000,000& *1.08% 324
HY2HZH (KAL) 55,904 53,504 2,400
=& Hl 55,904 53,504 2,400
AAE D12 24| 55,904 53,504 2,400
201 Let24dy] 14,664 14,664 0
01 At 22l 11,664 11,664 0
OHE gR=2 9,332,000 «14 9,332
OHA ARFA(SHIl) 2,332,000 =14 2,332
02 232gl 3,000 3,000 0
O&EAMSKA & 2l 3,000,000 » 14 3,000
202 Odl 27,720 27,720 0
01 = LH 4 Hi 2,880 2,880 0
oy gR=d 240,000& 12 2,880
02 FHOHI 24,840 24,840 0
osd 200,000 x1H «12& 2,400
ORHHE Olct 170,000& 11H «12& 22,440
203 YR =& 10,120 10,120 0
01 122 =8 6,600 6,600 0
oJ1229 6,600,000 «1& 6,600
02 33t H 2= 520 520 0
OF&ADtet 40,000& 13H 520
04 FN2ELSZ=TH| 3,000 3,000 0
ORNEE 250,000 1228 3,000
405 XtAtE SHI 3,400 1,000 2,400
01 AL ESH SHI 3,400 1,000 2,400
OdAE HEX 120, 000 *20EA 2,400
oy gR=x=d 1,000,000& 14 1,000
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